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& Az & 4 ouT IN [TOTAL| HDCP NET
B AT HEBE 39 | 40 79 13 66
HEB R R = 35 | 41 | 76 5 71
3 fir =H EE 44 | 39 | 83 12 71
4 fr HEFE B 38 | 38 | 76 4 72
5 fir B BT 38 | 43 | 81 7 74
B-G | % B3 | 38 | 38 | 76
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& Az & 4 ouT IN [TOTAL| HDCP NET
B IR mE— 38 | 42 80 10 70
HEE R A 57 44 | 40 | 84 13 71
3 fi a5 41 | 42 | 83 10 73
4 {ir IR g 41 | 42 | 83 10 73
5 fi AR FE 45 | 40 85 11 74
B-G R B 38 | 42 | 80
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& Az & 4 ouT IN [TOTAL| HDCP NET
& TR |E 44 | 45 89 17 72
HER | BEAR EZ | 46 | 46 | 92 | 19 73
3 fir BAR R 49 | 41 90 15 75
4 fif v RS 48 | 50 | 98 23 75
5 fr BH ER 45 | 47 | 92 16 76
B-G TR |E 44 | 45 89
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& Az & 4 ouT IN [TOTAL| HDCP NET
B B HE ER 45 | 46 | 91 22 69
HE(B SIS 46 | 44 | 90 | 20 70
3 fir WA E— 51 | 47 98 27 71
4 fr g & 47 | 43 | 90 | 18 72
5 fir BRIE BB 48 | 44 | 92 20 72
B-G i & 47 | 43 | 90
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